To use inverse operations to check addition and subtraction calculations
5208 + 4329 = 9537

If you have an addition calculation you need to use subtraction. Here are two examples how to use the inverse to check.
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3436 -2239 = 1197
If you have a subtraction calculation you need to use addition. Here are two examples how to use the inverse to check.
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Now use inverse operations to check if these calculations are correct.

3674 + 2937 = 6611

5881 + 1705 = 7586
7560 – 2634 = 4926
4038 – 2574 = 1464
8703 + 1948 = 10651

9634 – 2951 = 6683

1876 + 1954 = 3830

5368 – 1947 = 3421
Joe says 5689 + 1324= 6915. Is he correct? Explain using the inverse method.
